PRESENT PERFECT INDICATIVE/SUBJUNCTIVE

present perfect INDICATIVE (action that has no definite completion) is formed in English with the use of the present indicative form of the verb to have followed by the past participle. In Spanish the present indicative form of haber. This form indicates certain action. 

haber: he, has, he, hemos, habéis, han.

he hablado

hemos hablado

has hablado

habéis hablado

ha hablado

han hablado

No, indirect objects, reflexive pronouns appear before both verbs.

present perfect SUBJUNCTIVE(action that has no definite completion)  is formed in Spanish with the present subjunctive form of haber. As with other subjunctive forms, this form is used with events or actions for which there is some uncertainty.

haber: haya, hayas, haya, hayamos, hayáis, hayan.

haya hablado

hayamos hablado

hayas hablado

hayáis hablado

haya hablado

hayan hablado

No, indirect objects, reflexive pronouns appear before both verbs.

Past Perfect: Describes action that had a definite time of completion. It uses the imperfect form of hay followed by the past participle of an action verb.

haber: había, habías, había, habíamos, habíais, habían

Antes de 1985, siempre habíamos vivido en Kansas. Antes de graduarme en la escuela secundaria, no había estudiado español.

